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PUNJABI

1

10.

fogzr mee ©a T feadt &df 37
A B \,B/H*Em%
C. UH D. &3
A 55 B. @9
c. A -

firo3 Aue, fires Ul oI @ Ay 7 fods B4 233 AE, G § faod s FidT
J&7

A. TH3 94 &< B. WH &<

C. < TUF &' B feds Ted s
JoHH fedt &g sar & farest fdat 37

A. H3 B. W&

V- D. 37

frr weg &% &1 & 84t I=, @R & ot afdT 367

A TIE B WS

c. €3 D. fenias
wlgEfe3d _ __ __ _ Iy R RIS ST
A. AT UET B. af &7 UET
C. FIS &% HarE VD./QEQB'@
fag AT ‘AYT © AHSIE &d I ?
.= B. H3Y
c. A D. A3AST
g9z 5g3 = Afge J) a9 AEE € o O fam EA?
A. M &' B. fods Tg9d &2 &g
o HH & D. TH3 T0d &<
Ao M ygad oI Tt wIE I ? |
A, ¥ it SBE T B 573 e S5t T
c. fog" #O AWS I8 TE D. §g3 frinrer 98T T
sgr oot & B famrm fagzr @a 97
& AOgE T B. fHHIZ @4
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C. a3 @9 D. MEBM T

General Knowledge

11.

12

13,

14.

15.

Who was the first chief minister of Punjab?

A. S. Partap Singh Kairon* B. Shri Bhim Sen Sachar
& Dr. Gopi Chand Bhargava D. S. Lachhman Singh Gill
A T UfggT ¥y {39t 3= /#e
A A Y3y fify 33 B. il 1 A® Hog
C. 3. Indt g Frgdre D. A. ZeHs Ay s

Which one of the following Indian freedom fighters killed General Michael O'Dwyer in
Britain?
~ Udham Singh B. Bhagat Singh
C. Chandra Shekhar Azad D. Ashfaqulla Khan

J&t id2 3793t AF39 m&@m%ﬁéﬁﬁﬁwmm?g
HIMT A?

A. BuH Ty B. 3913 fHy

C. ITd BYd Wae D. WHIHS ¥'&
Which amongst the following Sikh Guru built the Akal Takht Sahib at Amritsar?

A. Guru Nank Dev Ji B. Guru Ram Das Ji

C. Guru Arjan Dev Ji B Guru Hargobind Sahib Ji
fegst &3 faaz iy g & vifizAg fed wars 3u3 Aoy & §rrdt a3t At

A. I & B B. I IHEH

C. I nIHs BT it D. IJ IJdifde Afag 7t
What is the name of the memorial built by the Punjab Government at Kartarpur
(Punjah)?

. Jang-e-Azadi Memorial B. Virasat-e-Khalsa
C. Punjab State War Heroes D. Vadda Ghallughara Memorial

Memorial and museum
UAS ATSTS €8 g939ud (™) fe g=dt ot orearg © & s 37

A. HI-2-wrel gredrg B. g H3-2-4mH"
c. Urs Aee =g figw MiSws D. I UHUST ANTMS
w3 TG
‘National Sports Day’ is celebrated on which one of the following dates in India?
A. July 29" B~ August 29"
C. September 29" D. October 29"
993 K9 'THed 87 feer’ a7 Hatowr aer 37
A 29 &€ § B. 29 wam3 §
C. 29 A3=EI § D. 29 wWagad §
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16. In which year India won the first Olympic GTBM/edaI in Hockey?

A. 1925 7 1928
C. 1935 D. 1942
Fg3 & gt foo ufger G8fua I8 NFS fan A8 i At?
A. 1925 B. 1928
C. 1935 D. 1942
17. “Thomas Cup’ is associated with which one of the following sports?
A. Hockey B. Lawn Tennis
C. Football - Badminton
“Byr FU' I fodm 937 153 fam &% g Jfowr 37
A. Jdt B. 3™ 2faA
C. 38 D. g3fiea
18. The Battle of Plassey was fought in which year?
A. 1748 \/9/1 757
C. 1764 D. 1782
USTH & 33 faA 7E s31 e A7
A. 1748 B. 1757
C. 1764 D. 1782
19. Which one of the following countries do not share land boundary with India?
A. Bhutan B. Bangladesh
C. Nepal ~ Tajikistan
A. 3TS B. HIBeH
C. d3UB D. IATIA3S
20. ‘Jim Corbett National Park’ is located in which state of India?
A. Himachal Pradesh ~ Uttarakhand
C. Madya Pradesh D. Jharkhand
‘7 FroSe SHS Uds’ 9793 © fan g &g Afgs I7
A. ToHos yTr B. €393
C. HOu=H D. S9H3
ENGLISH
21. Fill in the blanks with the correct form of tense:
After he his wife at the airport, he back home.
A. saw off, came B. seen off, came
\/Vhad seen off, came D. had seen off, comes
22 Select the correct synonym of the underlined word:

Please do not interfere with my work.

\ B Meddle B. Help

C. Copy D. Object
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23.

24,

25.

26.

27,

28.

29.

30.

Select the correct sentence:
A. He had fined for coming late B. He were fined for coming late
C. He have fined for coming late \/D./He was fined for coming late

Fill in the blank with the correct preposition
The thief jumped the wall and escaped.

A. into \/B/ over

C. against D. on

The correct antonym of artificial is:
A. solid B. truthful

&/naturan D. fake

Choose the correct adjective:
The thing of all was that his son was rude to him.

A. bad \}/worst

C. baddest D. worse

What is the meaning of the underlined phrase:
You have to raise your voice a little when talking to him. He's a little hard of hearing.

A. stubborn B. quiet when he speaks

C. distracted \/If deaf

Directions (Q No. 28-30)
Read the following paragraph and answer the following questions:

Androcles, the slave of the king, was ordered to fight with a huge lion that had been
kept hungry for two days. He was sure the lion would tear him to pieces. So, he was
sad to be back. A large crowd of people had come to see the fight. The lion was let
loose into the arena where Androcles had been made to enter. The beast came roaring
aloud out of its cage looking fiercely. As the lion neared him people got excited to see
the bloody drama. But suddenly the lion stopped roaring and became calm. Instead of
attacking Androcles he crouched at his feet and began to lick hands. Tears of joy
welled up in Androcles’ eyes and he embraced the lion. It was the same lion with whom
Androcles had lived in den for many days.

What was Androcles ordered to do?

A. to fight with the other slave B. to fight with a minister
. to fight with a huge and hungry D. to fight with an elephant
lion
What did the lion do?
” began to lick his hands B. killed the minister
C. fought with Androcles D. killed Androcles
What is the meaning of 'embraced'?
A. killed B. smiled

C. hold \/D_/hugged
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MENTAL ABILITY/ LOGICAL REASONING

31.

7.

33.

34.

35.

What would be the value of the following expression?

1 1 1 1 1
1 (1_5)(1_Z)(l_E)""”""'(l;%)(l_ﬁ)
C D. 5
Jat i TEAY T HS o J=ar?
1 1 1 1 1
1 (1_5)(1_Z})(l_g)"""""'l(l_ﬁ)(l_l_OO

-ZE B. ;25
© 100 T 99

280 apples are distrusted to a group of 50 girls and boys in such a way that each boy
gets 7 apples and each girl gets 5 apples. How many boys are there in the group?
\}/315 B. 25
C. 35 D. 45
280 AE' & 50 M w3 Hfgwr @ Mg Re w imr IR gg saa § 7 A=

w3 I3 I3 § 5 A" B Iy &9 & H3 957

A. 15 B. 25

C. 36 D. 45
The average weight of three persons A, B, and C is 45 kg. If the average weight of A
and B is 40 kg and average weight of B and C is 34 kg, then what would be the weight
of B?

A. 15kg B. 22kg

C. 26 kg 7 13 kg

fies fomaIMit A, B w3 C & WHS I3 45 fI8d[H J1 Adg A 3 B T WA3 9 40
faBa[H I w3 B 3 C T WA 9 34 B 3, 378 T T o I=Ar?

A 15138 B. 228

C. 26 fa& ‘ D. 13198

If a train moves with a speed of 30 km/hr for 12 minutes and for next 8 minutes it moves
at a speed of 45 km/hr, then what would be the average speed of the train?
. 36 km/hr B. 37.5 km/hr
C. 42 km/hr D. 45 km/hr

AT At Iz 12 file B 30 fadiies yFt wer & ge3< &5 T8 I W3
waTS 8 fiet Bt Aag us fadhited Y=t wer & 9e39 &8 98w J, 37 IBd8 &
W3 3T &St I=4f?

A 36 fadteg wer B. 37.5 fasteg e
C. 42 faiteg wer D. 45 fa@teg e
What would be the H.C.F of the numbers 2 ,E ,E ,E ?
3 e 27 B
160 g
T 81 3
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36.

37,

38.

39.

40.

333 = 5313 &9 T H.CF &t 3292

27
A 280 g A%
81 3
& = D, 2t
81 2

If two numbers are in the ratio 5 : 7 and their L.C.M. is 315 . then what would be the

productof these two numbers?
\/AZ:%SS B. 2538

C. 2385 D. 2358
Adg T AftME 5 . 7 waurs &8 g6 w2 89T © L.CM. 315 3, 3 §g& Aftmrar
T IEAST A Jedm?

A. 2835 B. 2538

C. 2385 D. 2358

Radhika spent Rs. 44668 on her air tickets, Rs. 56732 on buying gifts for the family
members and has 22% of the total amount as cash with her. How much money she

has in total?
A. Rs.1,28,600 \/B./Rs. 1,30,000
C. Rs.1,01,000 D. Rs.1,33,800

Ifgar & nrusht get feger 3 gUP LL668, Ufded © Hag 38t 392 vdes 3
JUE 56732 HIY A2 W2 IT IaH T 22 % OF I8 < Al OF 38 35 5 gaH
HI?

A. UL 128,600 B. gu® 1,30,000

C. gy 1,01,000 D. gue 133,800

Ram sold a Pen to Sham at 20% gain and Sham sold it to Karan at a loss of 10%. If
Kara ught the Pen for Rs.216, then at what price did Ram purchased it?
. Rs 200 B. Rs 216
C. Rs 250 D. Rs 228
IH & B o6 7H § 20% 573 fRg Ao w3 7rH & fTRg 10% © we g ggs & 2fgmr

Hag 396 & U § 216 gue fg ¥diferr, 37 I & ford fam sz '3 wdifenr 2

A. Rs 200 B. Rs 216
C. Rs 250 D. Rs 228
If one-third of four- seventh of a number is 80%of 60, then what would be that number?
A. 120 B. 175
. 252 D. 412
Had faR At g g-A3< e g f3grdt {[JAr 60 © 80% I, 3T 6 Aftmr &t =277
A. 120 B. 175
C. 252 D. 412

If Raju and Babu can do a piece of work in 12 days; Babu and Kalu can do the same
work in 15 days whereas Kalu and Raju can do the same work in 20 days, then in how
many days Raju alone can do the said work?

A ays B. 24 days
<30 days D. 40 days
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41.

42.

43.

44,

A9 Ig w3 Ty 12 feot e i oW I3 AR Io; 5Y w3 g R AN § 15
fos &g 99 Aee gs, e fa a8 w3 Ig form &1 & 20 o' €9 99 AaE 76, 3
A 16fes B. 24fcs
C. 30fes D. 40 fes

Rajender is the brother of Jitender. Geeta is the sister of Harender. Jitender is son of
Geeta. How is Rajender related to Geeta?

A. Brother B. Father
\}/§on D. Nephew
99 geg, Afdeg © 397 J1 a3, gfdea & 3= I Affes, sizrer dza 3 3t
gfdeg o 33" &% df AET 37

A 3T B. fusr

c. Usg D. I3

Choose the correct alternative amongst the following choices that will continue the
same pattern and replace the question mark (?) in the series
4.8,28,80,244 7
A. 278 B. 328
C. 628 728

s forihr S &5 At feasu ge A €7 $ 7t I w3 B fo yrs
fda (7) & HJF 3w 7A=am?
4,8, 28 80,244, 7

A. 278 B, 328

C. 628 D. 728
In a certain Code language “HONGX" is coded as "BIHAR”. Following the same rule
of coding, what would be the word for the Code HNUPVAXO?

A. BACHELOR \_B" BHOJPURI

C. BOARDING D. BRIGHTER

fifa urA 37 I 89 “HONGX” § “BIHAR" faTr wer J1 afdar € @R found & user ase

J8, AF HNUPVAXO SE St FEe Jear?
A. BACHELOR B. BHOJPURI
C. BOARDING D. BRIGHTER
In the following number series one term is wrong. Find out the wrong term?
15, 28 45, 64, 85,116,147
A. 45 B85
C. 116 D. 147

Js fog g9t & 531 &0 fa 393 3183 J1 9183 599 © U3 BIrg?

15, 28 45, 64, 85,116,147
A. 45 B. 85
C. 116 D. 147
What would be the value of the following expression?
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45.

46.

47.

48.

49.

(724 + 62)% + (724 — 62)?

(724 x 724) + (62 % 62)
“

C.3 D. 4
Jo7 23 <urg T HE ot J2ar?
(724 + 62)% + (724 — 62)?
(724 x 724) + (62 % 62)
A1 B. 2
c. 3 D 4
Answer Q No.46-48 based on following statement:
A, B, C, D, E, F, G, and H are sitting around a circle facing the centre, not necessarily
in this order. F is third to the right of C and is second to the left of H. D is not an

immediate neighbour of C or H. E is on the immediate right of A, who is second to the
right of G.

Jd&' i3 g8s @ wod 2 AC'S &5J 46-48 © @39 fe6:
A,B,C,D,E F, GW3 HEad € dvd € Ao B gn @ owd 88 I2 I8, Fgdr
SR A R ITIFCE AR UASAT In3 He v I ea dag 3 9o I

D, CH' H T &relell IiEl &Rt JIE, AR I3 A uA I, A A6 AR UR g7 3

Who sits between G and D?
A. H B. D
B. E

A

VC/ F
G W3 D fegag s Sa7 IJ?
A H B.
G. E D.
Who is second to the left of C?

D
E

KA B. B
G- E D.D
cede 3 gr de g J?
A A - B. B
= E D. D
Which one of the following pairs of persons has first person sitting to the right of second
person?
A. CB B. AE

C. FG D DB
Jo' &3 fawardhot @ A 55 g ufger fenadt o7 v @ A umi
J?

A CB B. AE
C. FG D. DB
Radha moves towards South-East a distance of 7 km, then she moves towards the West
and travels a distance of 14 km. From here she moves towards North-West a distance of
7 km and finally she moves a distance of 4 km towards east. How far is she now from the
starting point?
B. 4

A 3
\/c/m D. 11
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50.

I SyE-UySE 98 7 fadiies g9 3, fev 89 Uer <8 7 3 w3 1 faies
égﬁ%m@éu%ﬁ@a@%~®w@7%wﬁé@%ﬁs@a

ygs 25 1 fadiies gael J1 g 69 Bgwst fig 3 fat g9 37

A. 3 B. 4

C. 10 D. 11
The tank-full petrol in Arun’s motor-cycle lasts for 10 days. If he starts using 25% more
every day, then how many days will the tank-full petrol last?

A. 5 B.

C.7 8

wagE 2 g i R 2 st 0236 10 feat I IR 31 9T €3 3
25% frmirer 293 7y 99 e 9, 3 39-yTr s fds fee T&am

A. 5 B. 6
G. 7 D. 8

COMPUTER PROFICIENCY

1.

52.

53.

54.

How many layers are there in OS| model?
\/BA layers

A. 2layers

C. 4 layers D. 9layers
0S| H3& &g e BWIH Ja?

A. 2 BWIH B. 7 BWJH

C. 4 BWIA D. 9 BWIH

What isthe full form of ‘HTTP’?

~ Hypertext Transfer Protocol B. Hyper Transfer Text Package
C. HyperText Transfer Package D. Hyper Transfer Text Practice
HTTP' & Ugr gu &t 372
A. TEUSEIAE STHEd YodB B. T TAEY SIAC UaH
Cc. IEhugare gHed dan D. IENT THET SIAC YHfeA
What is the full form of ‘MAC?
~ Media Access Control B. Media Access Carriage
C. Mass Access Control D. None of these
‘MAC' T Yar gy & J?
A. HIZr WaiA de98 B. g WaRA 337
C. HA WaHA 338 D. fagst &5 a8 &Jt
Which one of the following layers is responsible for data translation?
A. Network ~ Presentation
C. Datalink D. Application
I fad Bwar 5T fagat nwg 3o waee 39 fiieg I7?
A STITIH B. JHSHS
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C. T8 D. "uFans
55. Which one of the following layers is not there in TCP/IP?

. Session layer B. Transport layer
C. Application layer D. Network layer
Jo bt Bnigr &9 fagdt Tep/ip &g & 97
A. AES Sng B. ¢AUIE nig
C. whdaHs 3vg D. dcegd dwg
56. Which one of the following is not a ‘Network Topology'?
A. Star B. Bus
C. Ring .\,B./Peer to Peer
J& i &9 faodt g ‘&eegs UBH! &t 97
A. ATT B. €A
C. fdar D. Ug 3 Ug
57.  What is the full form of USB? n
A. Unlimited Service Band \,B%Jniversal Serial Bus
C. Unlimited Serial Bus D. Universal Service Bus
USB & Yya' gy &t J7
A. WESHIZ ASfeR T3 B. TAITIAS HIIME 1
C. WEBHIZ Aldwg g1 D. TITIHE AIfeH SH

58.  Which one of the following commands is used to identify TCP/IP errors, such as
connection problems?

A FTP \_B Ping

C. POP3 D. SMTP
TCP/IP WIg a7 13 Fdama mifme’, & Uuss das S8 J&° fgmi angr
&S fagdt g vz ©F 293 st Jet 97
A. FTP B. Ping
C. POP3 D. SMTP
59. Which of the following is not a computer input device?
7 Printer B. Mouse
C. Keyboard D. Joy Stick
J5 et 189 ooz dfuges frsye feedn adf 37
A. fjeg B. HgA
C. =gz D. 72 Rfeq
60.  Which gne of the following protocols is used for sending emails?
. SMTP B. HITP
€. FLR D. Outlook Express
ET 3 BE It 3 Ydgn 8 faaa g Jeas =afamr Jier 37
A. SMTP B. HTTP
G. FIP D. Outlook Express
61. How many function keys are there in a keyboard?

A 15 B. 14
C. 13 ‘_/9./112
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62.

63.

64.

65.

66.

A. 15 B. 14
G 13 D. 12
Which one of the following can be used to send same email to different email-IDs?
A. Macros \/B./ml\:ail Merge
C. Template D. None of the above
-y Em-wEiEt & S s 3ne B8 It 3 R fam g S =g it
At 37
A. AaIH B. W8 HIH
C. SHUBT D. foost £5 ast &t
Which of the following is the default file extension for MS word-2007 file?
A. .doc B. .word
L «docx D. .txt
whimiA 233-2007 THE B8 I €3 &Y faozr f3ese 88 aHCHS J7
A. .doc B. .word
C. «doex D. .txt

What is the shortcut of replacing a word/character in MS word?

A Cirl+r B. Ctri+p
Ctrl + h D. Ctrl +s
=3 &0 foR A /g § foudH T wacdc of J7

A. Ctrl +r B. Cirl + p
C. Cirl + h D. Ctrl + s
Which function key is used for Spell and Grammar check in MS word?
A. F5 B. F8
= FY D. F12
=93 g mifSar w3 fowraags A9 89 faadt Sans of =33t At 97
A. F5 B. F8
. B FF D, Fi2
What is the shortcut of ‘Align Center’ in MS word?
A. Ctrl+c B. Ctrl +]j
~Ctrl + e D. Ctrl+k
=337 9 ‘weds Acg’ T macde & 37
A. Ctrl + ¢ B. Cirl +j
C. Ctrl + e D. Ctrl + k
Which of the following is an example of Page Orientation?
\ A Portrait B. Legal
C. Superscript D. Letter
Jor i3 29 fgazr Un EIMidAs ©F @ud9a I7
A. Udede B. BUI®
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68.

69.

70.

71.

2.

7o,

C. BUIHAIUE D. 829

In MS excel, single element in a worksheet is known.as?

A. Column ~ Cell
C. Row D. Page
Wit Wems 28, g gaanfte & fiam wdhie & &t faor arer 32
A, TBH B. A&
c. 3 D. U9

Which one of the following functions can be used to count number of cells having
numeric values?

A" Count() B. Countn()
C. Counta() D. Countnum()
I 7 AT I?
A. Count() B. Countn()
C. Counta() D. Countnum()
Which one of the following can be used to join the selected cells?
A. Join B. Pivot
& Merge D. Wrap
e I AB § rFs B8 o €3 &S fan g & =33 &gt 77 Aaet 37
A TS B. fike
C. Had D. 3y
Which one of the following is used to start a fc:iﬂgga in MS excel?
A 3 =
C. # B *

A J?

A $ B. =
C. # D.
Which one of the following formulas is not written correctly?
A. =5*7 B. =sum(A1:A9)

C. =B4+A9 P 4+9
Jo fafemit (€9 faozr B9 srays 7t Sa1 575 &t fafemr famr 37

A. =5x7 B. =sum(A1:A9)
C. =BL+A9 D. 4+9
Which menu has the “Conditional Formatting” option in MS Excel?
. Home B. Formulas
C. Insert D. View
W RS 89 a3 fis e ddmes oaiféar feasy 37
A. IH B. SIHBH
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74.

75.

76.

T

78.

78,

80.

C. féorAde D. i@

Which menu has the “Filter” option in MS Excel?

A. Home B. File
< Data D. View
wars 9 ooz s e 'feseg” feasu 37
A IH B. THS
& TE" D. <€
Which one of the following is not part of ‘MS Office suite'?
A. Word B. Powerpoint

C. Access \/D/ Macro

It iE3 &5 fagz fa Wy WA wifen B & 97 &df 37

A. TIF B. yegufic
C. WaHA D. Aad
Which one of the following is not a ‘web browser'?
. HTML B. Firefox
C. Safari D. Edge
foge’ €9 faoz e ‘29 FE87d’ o 37
A. WG 2 nhi s B. gfagean
C. AT D. WH
VWho amongst the following is called the father of Computer?
A. Bill Gates B. Douglas Engelbart
L7 Charles Babbage D. Ada Lovelace
I+ 73 55 fam & e o fusr faar wer 37
A. o3 der B. IISBH MIBEIC
C. U'98H g8+ D. 3T B<BAH

What is the full form of ‘CSV'?

~ Comma Separated Values B. Cursor Separated Values
C. Comma Separated Variables D. Cursor Separated Variables
HA S ysr gy at J7
A. FH AuSfes 28U B. IIAT AuIfezg 2guH
C. Iy Audfes SeEs D. aIAd MUSfes s
Which one of the following is the shortcut to insert new slide in presentation?
A. Ctrl+n B. Ctrl+q
C. Ctrl+o 7 Ctrl +m
J&' fie3 K9 JAcHs KT o< A8 UG & Facdc ot 97
A. Ctrl + n B. Ctrl + g
G, Gl + 0 D. Ctrl + m
Which key on the keyboard can be used to view Slide show?
. F5 B. F10
cC. Fi D. F12
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81.

82.

83.

84.

85.

86.

ASTHIZ 7 2YE U 933 S fdI3 d(key) TIIT A A<t I?

A. F5 B. F10
& F D. F12
What is the Binary equivalent of Decimal Number 457
A. 110011 B. 100101
C. 100110 ~ 101101
THHSE At 45 T FEiad! 594 of 97
A. 110011 B. 100101
€. 190110 D. 101101
Which one of the following is not an email service provider?
A. Yahoo B. Rediff
\,(/Facebook D. Google
fegst &9 fagzr s dis Aefer gefeza &df 37
A. T B. 3T
C. eHgd D. JATS
What is the shortcut in windows operating system to print a notepad document?
. Ctrl +p B. Cirl+r
C. Windows + p D. Windows +r
g ez TAs<=H fic a9s ae 37 Guafdar fareH &g aracde &t J7
A. Ctrl + p B. Ctrl +r
C. Windows + p D. Windows + r

Which one of the following helps persons with disability to operate the Computer?
A. Settings B. Eonts

C. Display -\Mccessibility
fegest &8 fagar s nurgw fawasvt & dfuges g8t ff9 Hee g J7

A. RAféar B. 3¢
c. fgrud D. WHAfESST
Which one of the following has a tree like view of folders and files?
- Windows Explorer B. Control Panel
C. Start Menu D. My Computer
Jot &3 T fam fBa fo euss’ »3 eeiw © < grfed fe@ ¥ige 97
A. fE3a Wamusag B. dea5 Uos
C. ACIC HIg D. HJ" (My) Sfugeg
in windows operating system, deleted files/folders go to?
~ Recycle Bin B. Cycle Bin
C. DustBin D. Dump
fE3w 3T famey <o, f3dle g et /3%ag fag A I87
A. JTAEES f9s B. AEES s
C. 3IAC &5 D. 34
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87.

88

89.

90.

91.

92.

93.

Which one of the following is the Windows cloud storage service?

A. Google Drive B. Win Cloud
€. One Drive D. Win Drive
Jo' i3 &9 faudt i 3w I583 Aedd Adfen 37
A. N8 3IJER B. 5 a8z
C. €& IIH=E D. fe& T8

Which key is used to display and hide the start menu in Widows OS?

A) Windows Key + d
C) Windows Key + |

B) Windows Key + p

indows Key

fedw € nin &g Aerge Hig § fouBe w2 gar@e B8 fagdt f(key) =TI Tt

J?
A. ﬁ‘:'?ﬂ'aﬁ'er
C. fegadt+ 1

Program in execution is called as:
A. Command
C. Instruction

WIEaHs &9 Yo § &t fagr aer 37
A. THZ
C. fErcans

B. ﬁi’??—.faﬂ+p
D. fe3m &t

B Process

D. Task

B. yAn

D. €A

Which one of the following is not harmful for a computer?

~ Firewall
C. Virus

B. Trojan horse
D. Malware

fogst &9 fagar fix dfuges a8t galarad adf 37

A. Tfege s
C. Tfegn

An ‘error’ is also known as
A. Debug
~ Bug

f&x Wag' I &t faor arer I
A. e
C. =1

Who invented the QWERTY layout of keyboard?
. Christopher Sholes
C. William Norris

diEd3 © QWERTY 3wGe o 8H fam & ast?

A. fACed HBH
C. fedmni &fan

B. 2376 JIA
D. H&2wd

B. Cursor
D. Bin

B. I9AT
D. fa&

B. August Dvorak
D. George Stibitz

B. WJTHIZ 394
D. 7'9d AcIfged

Which topology requires a central controller or hub?

A. Mesh
tar

B. Bus
D. Ring
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94.

95.

96.

Q-

98.

99.

100.

fom SUBH 88 dudl degsd 7 J= © 837 IEl 37

A, AA B. =R
C. ACY D. fdar
Which one of the following can store maximum amount of data?
A. Floppy Disk B. .Compact Disk
C. Pen Drive " Hard Disk
Jot 53 2T fg ffa 3o & 20 3 Tg 3T § AT &I Hae' J7
A. et 3R B. ude f3rAx
c. U& IT8e D. II3 fIAd
Which one of the following is a language for creating web page?
\/HTML B. FTTP
C. HTTP . FIP
2 07 5o'8= 8 ot &3 &9 fagdt 9 I5 (language) I?
A. HTML B. FTTP |
€. HITP B. FTP
Which one of the following is not a search engine?
A. Bing B. Google
C. Gibiru < Windows
A, fHar B. INTH
c. foafsg D. f&39
Which one of the following is the correct email format?
A. abc@psou@edu B. abc.psou.edu
- abc@psou.edu D. abc@psou#edu
It o3 ehis wieh, Y. 55 faga g ehis wieh, 3t grane /dt 37
A. abc@psou@edu B. abc.psou.edu
C. abc@psou.edu D. abc@psou#edu
Which one of the following is the correct descending order of the units of memory?
A. TB>MB > GB > KB B. MB>GB > TB > KB
~TB>GB >MB > KB D. GB>MB=>KB>TB
I oy 59 faggr ffg MRS S feardh & At weer i &7
A. TB>MB > GB > KB B. MB>GB>TB>KB
C. TB>GB>MB>KB D. GB>MB=>KB>TB
In which year the first E-mail was sent?
A. 1967 B 1971
C. 1983 D. 1991
Ufosd! 8-1% far 78 31 918l Al?
A. 1967 B. 1971
C. 1983 D. 1991
Which one of the following is called the main directory of a computer?
A. Folder B. Sub Directory

C. Network \)),/Root Directory
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Jo f3a 178 fso3 ffa & sfuBes f3aa & iy sfedaed! fagr AT 7
A. B3I B. A" Ifedacar
C. TR D. g< Ffedacat
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